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Lesson 50

ON THE
CHAMUNDI HILL

All of us from our class went to
Chamundi hill recently. Some
proposed to go on foot. Some
said that they could not walk
and wanted to go by bus. If all
of us go togethere, we thought
climbing the steps would not be
a difficult task, and we could do
it easily. We ate four bananas
each and started. There were
trees, bushes and large stones
on both the sides of the steps.
We did not even climb up four
steps, but Ravi and Kumar had
a bet between them. There was
a big stone. Ravi said "I can lift
this stone up". "You cannot lift it
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§0c Do¢s S5 A @OEH B3OS
@) £V AT eI HSrb. 6D e
T8 DB [DoDSo DT, ©b
BSBEo. 553@9) [LoSEomc. D508 es
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(000D cwos §V) DAITred R0EE
30 3.

up" said Kumar. Then Ravi
wanted to have a bet. Kumar
said that he would buy and give
a top the hill as many bananas
as he (Ravi) would be able to
eat. Ravi tried to lift the stone
up. It could not be lifted. He
tried again. At last he could lift
the stone a little. In the mean-
time a scorpion under that stone
stung Ravi. He at once dropped
the stone. It fell down. Since the
ground was slope, that stone
slipped on to Kumar's foot.
Both of them fell and sat down
on a step there. Then we de-
cided that they two could not
climb up the hill any more and
gave up the attempt. Because
of their bet, we were thus to
conclude our journey. I will tell
you more about my experiences
in Mysore sometime later.

> D8y $305°D
FOIB80324t8) F°5!
Sir! He is fleeing with my

DEedD DO DeEESass!
©08 S 350 HORSKO?,
Bdy!

You are an young boy. You go
and catch him. Do you think |
can run that fast?
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HBHYBOD PI KRS E
o> P3 KRE 6

TP Bore SHBOS 330
Bs2(B0 &1 3‘&?\3&0;5(1335?
259 D8 H0Ed
5505055599,

How can | tell you right on the
spot whether green should be on
top or orange should be on top!
You must take care of such
things well in advance.

DRILLS
a. Repetition drill

3% Fods Ao

0 oo 0.
030 & Taw DEf0.
g Dovo S fo?

oS 00 ©0&ITY) BIMOR?

T ID S el Swo ¥SOE?
s £l DT,

TEY) S DJ DogT.

®©d VoORST%.

@0 DR IHADJ.

Q0 DOAGTOY).

@B DORGAE.

) VOAGHO.
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b. Build-up drill.

SO,

FE SO0d.

S8 S5r68r DB SDob.

IR BE S8 HIr5Er FS S8

e A5 B8 68 HIrELr FE S0k

0 D IR BE 68 HITEEr FE SD0b.
TR W) TR BE 68 HIrGEr PG SD0d.

0GB,

$3en @odBD.

205> BBt ©osSE

576 20T BRe eosd.

IR0 FY ST VIS GBey eodB.

0 BWOVEOMT IFWO $Q S WAST G8ey oS

QITCED.

ST .

ST

) ®OEHEY) FITITE.

A @BENFY) SIS ) @dEIFY) SILITIE.

§0c ao¢s ) @0BNY) BIfOS @) e8SuEy) SILITIE.

SRACT SN 0b.

& QoM SN0T SN 0A.

Q03890 @ AP0 SWACTS k.

S (PO3e0 & PO N0 Yok,

PS Sy S POITH0 @ GO SACTEN0E.

6D H3rbo PG Sy & @OIrHo @ Ao SATE 0.

e S 6 H3rde P o S [Poireo e dgom
SuhoT S 0b.
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¢. Substitution drill.
Model (i)

A% e DY Doy,
NN

QDYF & DI DODYAOY).

030
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fo9)
O
e300
a"@ﬁoe)
(T
(S0
Model (iii)
SI0 &8 YIE0 WAIADIT?
oo
SI0 & YJZo TONAVET?
&8
298
S0HT
37000
@M

d. Response drill

Lesson 50

Model (ii)

$0Y; vé BIBY.
Q&

D8 2% SIS
EINY)

200

0

o))

&

e30003

1)

a"%foe)

Model (iv)
93 TOY S

23°CRd

Yy TO BrEST?

WD
&0

Q
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Q
D00
DL

Model (i) 32 Do &0d BoBs TBW? (TS SAod)
TS THO SO 8D S Q038 2)@;59)6563?

ok e

36) otk ot WG GroEE? (FO s T HGE)
STFQATE Do SV BErE? (T0H eswdgomT Samd)
TOEE 230) DO @okBE? (eswdgom SE)00)

(“0025"90"45) DO WASTEH TBR. (83 9 fofJ"éJC‘eJ EO7°¢8)
%6& OC0% L0 oBe? (Sew é)égo&)
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Model (ii)

Model (iii)

B L b=

Model (iv)

1.
2.
3.

Model (v) a.

R o

$0Y3 TH V) ©0&HEY) aLY? (80)
5095 W), ©0EHEY) SIS ) V.
628 ) YT BLY? ($60))

TORE VS Q?D‘l Trden &S00 ? (83)

. 3D TH D) TonTer axdH? (Tow)

3 dBHow? (35))

3 aé’géa_@é&; %6& Qé&(ﬁ@é&.
SoPg & DY DodgioT? (e98)
LY DFPETo? (epen)
W& Fobogo THRT? (T¢))
0822 Hev TonoSiomT? (Do)

TS Jod Hosd gd? (Jod TTS'.....)
TS o8 TS @od HoSTE DO,
PO BB DEPH0Er? (DS Ford.....)
350 DHAEE 900? (JHE VE¢ wotos.....)
6 Dapcky SA? (apcko 38) SAE.....)

@G IOOME VYT,

THO ) TZR ¥50? (Teorhd)
Response : & T w5en 23%0.
@5 0GP VYLOTND.

THO ) TR agd? (Sorcdd)

Response : 0 e w5éy 2.

88 AP DT, WS THD W) Jered FTO? (Sorekd)
O &33.)({0)63 ééwg%&. 5"%@& a0 QEDQV Pz § é‘l&? (208)
0 DOB0HI. WO D) wOBHEY) ETO? (edd)

S50 NGB0 I STMEDEY) Sowro? (Bock)

2> S, & ) Sty TTO? ($0ed)

TEY APH. THH A agen T7O? (Sok)
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e. Interlocked substitution drill.

A5 POITER0 DODEADS. e [ Tec T o I
Brrevreeeneemirisenisrisenieneee e, PR o TR
3D POTr0 DODADED. e DAG e
............................... Q) e [ODBNO v
8D [DOIF0 DOPIBED. s )
..... S Toul R OB evreererereeeererere e
3D BFE BODGBE. e ST ...
.................. B e SO cetereereee et et nteene s
B BIE BIBED. s (S
O 0B oo
...... N o ceees [QOITPEIO i
.......................... () ;5°<°;539

f. Transformation drill.

Model TR 2060 J590. BOSEW S8 D75 PBE SAd.
TR W SR BE 68 HIr8Er BE SDed.
1. I8 BEE g, R08ED 6D $89) DOTE.
DO o0, ROSED ST ST,
3. D G0 T YJE0 IHPHANG Y ©ETED. RSEY D TH
FOISE(OR-vg o

EXERCISES

a. Answer the following questions in two ways as shown in the model.

Model (i)  38) D& 2% ScSiom? (W)

38) DO 2% SESBeEd; WA ScsSTd.
S0 STden 8If0Sr? (TU TE)
TTETTEY) @0 SMeT? (Bedh T¢))
595 Sorfod Hepsom? ()

I Foi HoT? (eahs)

TS e Fefom? (S5o)

N

o s e
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Model (ii) 36) Do Bem)co?
(¢) THTD S0 so)
TE) THME 6&532;6@0 JQ 6J TS ob.

1. B (DOSre0 Do SrddgdT8?
(628 Ben HEod)

2. PTE QoL 00 e&mEd?
(220020 W208)

3. 0 JotDH Hotrdd HE)oh?
(e9350)T082.08 rmdy © sddo SNob.)

b. Combine the following pairs of sentences.

Model SO HOVH T BTNW.
R0SSD K §H0 IMNo.
5500 $000B TG TS BE eH §Ho SNos.
1. 6D @0 ST, 2088 30) Sy,
2. $e09) HF%. oSSV FoN FOPaTTe.
3. D0 T, RoSEW 62 SO

c. Fill up the blanks with 28 or e

1. 5"@@6383 ......... 00C Wrgew a&ﬁgo&.

2. 828 BET o, TOAH YIFTLO a50é.

3. NoeEr, DO, DT, ©8)8 e B0 Wrew BB50s.
4. Dwgége& .......... 2§ STOSE0 VY-

d. Answer the following questions based upon the text of the lesson.

1. 060 @Lr 0T JO FJIT)o?

S8 HI7rGET SONS FE DG?

3D THY DS Sdercd?

TOD JOH §oL? IHEE T8ok?

S0E0E 2P LOHSE0 oD SFHETEYN06?

o &M wn
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VOCABULARY

SN recently DT
§0c hill NS
Slelny happy; fun 30
¢ step (n.) ey
QWOI0 easy Ero20¢H
Ber each

P bush

o0 stones Q08
P competition V/elobbloin
oD stone NN
(o)2) obl. base of Traw Slele)
&) lift up SN0
20000 bet (n.) ©9:302390
(QoD&o  effort Felovy
DoH& oS try Dy
Bew scorpion Q)
éaéch sting (v.) O
NAbOY) leave (v.) S7°(%0
O ground, floor S0’

GRAMMAR NOTES

Lesson 50

slope

due to, because of

foot

roll (v. intr.)

collapse, fall down
a bruptly on loosing
one's grip.

hereafter

decide

give up

manner

conclude

experience (n.)

purse (n.)

speed

green

suddenly

even. only

take care of

50.1. In this lesson the abilitative forms are introduced. These forms do

not denote any tense and they express the ability of the subject of the verb in

performing the action denoted by the verb.

Qodgiol  ceyyagalanu ‘I can do.’

50.1.1. The formation of the abilitative is in the following pattern.

Abilitative — Infinitive (29.1) + Auxiliary VaiiE gala + personal suffix

INOVSICIOIORAY ceyya-gala-nu ‘I can do.’
QOIg-(©-0 ceyya-gala-M ‘We can do.’
INOVISINOEIN) ceyya-gala-vu ‘You can do.’ etc.
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50.1.2. The negative abilitative forms are formed in the following way.
Negative abilitative — Infinitive + Auxiliary & /& + personal suffix

DOD-B-&  ceyya-le-nu ‘I cannot do.’
DoDg-B-co  ceyya-le-du ‘He cannot do.’
DODg-B-%  ceyya-le-du ‘It/She cannot do.’ etc.

& /éis a negative verb (7.2)

50.2. The personal suffixes used both in abilitative and negative abilitative
are those which are added to the negative verb & /& (7.2).

23 BIAD nénu tinagalanu ‘I can eat.’

A3 BIBS nénu tinalénu ‘I cannot eat.’
W0 /d0 BSfwo  meéMymanaM tinagalaM  We can eat.’
200 /&30 BSBo  meMymanaM tinaleM  ‘We cannot eat.’

Q0§ B3 nuvvu tinagalavu “You can eat.’
3095 BIBY nuvvu tinalévu “You cannot eat.’
A& SIS miru tinagalaru “You can eat.’
A BIBS miru tinaléru “You cannot eat.’

e /@S B3N  vadu/atanu tinagaladu  ‘He can eat.’
T /88 BIDG  vadu/atanu tinalédu ‘He cannot eat.’

G0NS /W /A /T SIAE ‘He/She can eat.’
ayana/ame/avida/varu tinagalaru

IONS /0 /3G /T8> BSBE ‘He/She cannot eat.’
ayana/ame/avida/varu tinaléru

T B30 vallu tinagalaru “They can eat.’

T BB vallu tinaléru ‘They cannot eat.’
80 B3I adi tinagaladu ‘She/It can eat.’

@0 SIBD adi tinalédu ‘She/It cannot eat.’
) SINOY avi tinagalavu ‘They (neut.)can eat.’
@ SIBY avi tinalévu “They(neut.)cannot eat.

680



Lesson 50

50.3. Notice the use of the dubitative marker 2, ¢ in sentences like the
following. (See 25.6)

TR W) DTHR BE 6D8 HIrGEr el BE SDed.
nalugaidu me lu ekkamo 1édo raviki kumarka oka po I vacciMdi.
‘We did not climb up even four or five steps, a bet came up between
Ravi and Kumar.’
In such sentences it may be noted that the time gap between the action mentioned
in the clause containing dubitative marker and the action mentioned in the main

clause is almost nil. And the main verb will be in past tense.

T SHO8 STHE BE I BLE dg.

vadu lopaliki vaccado 1édo nénu bai iki vellznu.
‘No sooner did he come inside, I went out.’

S0t ool BE 8o 5% EONIeTAN

reMdu gaM alaiMdo 1édo rama kafT icciMdi.

‘No sooner did it strike two, Rama gave coffee.’

504. -d@_-valla'due to', 'because of' is a postposition and it is added
to the oblique base (4.6; 8.9).

D SQ TH aBsio SN0B.

nf valla naku udyogaM vacciMdi.

‘I got the job because of you.’

3y STeEeo S 8I8 §Ho SN0s.

nuvvu ma lada aM valla raviki kopaM vacciMdi.

‘Because you spoke (Because of your speaking), Ravi got angry.’

50.5. Past obligatory forms are formed by adding ~&r<No& —socciMdi
to the obligatory form (20.1). (For obligatory adjectival participles see 33.7.)

Tod + PO = TSN, (33.7.1)
ravali + socciMdi = ravalsocciMdl.

‘Somebody had to come; somebody was forced to come.’
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The past obligatory forms do not show any agreement with the gender-
number-person of the subject. Hence the same form is used with all the gender-
number nouns.

982 /80695 /0 /a7 [0 /TEY) @G GoTSN0h.

nénuw/nuvviy/miru/vadu/ame/vallu akkada uMdalsocciMdi.

‘I/'You/He/She/They had to stay there.’

50.6. &e> tala denotes distribution of things among persons more than two.

(cf. 20 ceri which denotes distribution among two persons. see 49.4.)

& S8 S a8 Dok AaYs.

a muggurikT tala oka paMdu ivvu.

‘Give one fruit each to those three persons.’
& S0MHB8 S Bowd TONTEO A

I naluguriki tala reMdu kayitalu ivvu.

‘Give two papers each to these four persons.’
608 TS DeNET S DO DY WY,
raviki ramuki vijayaki tala padi pallu ivvu.
'Give ten fruits each to Ravi, Ramu and Vijaya.'
De300ET S8 DO Hored PITEO A
vijayakd raviki ceri midu pustakalu ivvu.

'Give three books each to Vijaya and Ravi.'

50.7. The plural form of Tax rayi 'stone' is T%Y) ra//u and the oblique
base (of Tro rayi) is ¢ rati (and also T°o rayi).

©HE a8 A wok.  akkada oka rayi uMdi. ‘There is a stone.’
©J T, avi rallu. ‘Those are stones.’
e T8 /oo W& §r6Y. 4 rati/rdyi mida kirco *Sit on that stone.’

50.8. The following address markers show a change in their shape when
they are added to the imperative (affirmative) non-honorific singular form of the

verb.
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Address Markers added to
the form other than imperative
(affirmative) non-negative
singular

Address Markers
added to the impera-
tive (affirmative) non-

negative singular

Non-hon. fem.
Non-hon. masc.
Non-hon. epi.
Inf. fem.

Inf. masc.

—@éj"& —amma (8.13)
-e0drg —ayya (23.13)
-0 -ay (21.12)
~ -¢ (35.6)

-0 -ra (35.5)

-~ —avamma
-d308ry —avayya
-©30% -avoy
-e9 —ave (35.6)
-0 —ard (23.9)

Non-hon. fem.

Non-hon. masc

Non-hon. epi.

Inf. fem.

Inf. masc.

s"a"@éyzg r%s"lcéészg
kavalamma unnadamma!
SOOI z%a‘lcéo;iygg
kavalayya unnadayya!
TSR] GI)EoR!

kavaloy! unnadoy!
ST O! GG
kavale! unnadé!
5O z%;:‘lcéao"g
kavalira! unnadura!

55)3&5&55‘2:
ceppavamina
533955055"51
ceppavayya
DT
ceppavoy!
DY
ceppave!
5@3@;

cepparal
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